


(a) 6
(c) 7

Azad can do a piece of work in 45 days,
but Gaurav can do the same work in 5

days less than Azad. Azad and Gaurav
started work together and Gaurav left

the work after some days and Azad
finished the remaining work in 56 days,
with half of his efficiency but he, did
the work with Gaurjv with his complete
efficiency for bt
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Azad and Gaurav could finish the garden
cleaning in ‘p’ days. They worked
together for ‘q’ days then Azad left the
work and remaining work done by
Gaurav in ‘r’ days. In how many days
could each of them clean the garden.

Jraire X Mg ‘p’ feqt # i @) 9wrsg
MWV o3 Tad 2| SB ‘g R @ fare e W
& fHar| 39U 91 e F $H Bie o
IR WY HM MRG 7 ¢ &t 7 g1 e
S99 4 YdAd JT-3a fhad fear #
T & GBIE B Ghd 27

a
(a) Azad=—""days, Gaurav=— _days (c) Azad=—"—days , Gaurav=-"-
-ptq q9-P r+p-q P-q

days

r T 2 2
M Azad=_P days , Gaurav = 2 days (d) Azad= PT days , Gaurav= PT days
r-p+q P-q r-p+q P-q



The daily wages of A and B respectively
are Rs 3,50 and 2.50. when A finishes a
certain work,Jhe gets a total wages of Rs
63. When B does the same work he gets
a total wageg Rs 75. If both of them do
it together what is the cost of the work?

A 3R B @l Qe #Auqyl HA: W 3.50 AR
% 2.50 2| A[Sid H19 GHIYd HX odl & dl
99 63 % AUt ® W9 # fiead 8, 994 B

3 Sl S &I AT 2 9 99 75 % fad @
‘aé.-:e']-{urfaaa’rﬁ U 1 BIH H dl HH
DI T AT IR

ud) 67.50 (b) 27.50
@ (c) 60.50 \ (d) 71.50



In a factory, there are 3 shifts of work
for a day. During the 3 shifts, the
average working efficiency of workers is
80%, 70%, and 50% respectively. Work
is complete in 60 days by the group
working in the 1lst shift. If the work is
done in all the shifts then how many
days less are required to complete the
work?

Ud Bhagl d U feqa & fau 3 uifaar & &
gar 21 3 uifaral @ <R, siff®l &) st
&1 HIAAT HAA: 80%, 70% 3NN 50% T |
Ugell UTell #§ &I HY- dled 998 &RT 60
fi & o™ g1 & oiar & | afe s @

giferat d fdar « dl d1d Bl GRT B
@ forg feaq AT ddl Bidl g7
(a) 45 days (b) 42 days

(c) 40 days JAT 36 days



A takes 8 days to complete 2/3 of a

) 35 work, B takes 3 days to complete 1/7 of
’2 the same work and C taken 8 days to
2' l‘QD QD complete 4/5 of the same work. If they
work for 3 days together then B and C
ID HZ— leaves the work. Find the numbers of days.
- A will take to complete the remaining

ﬂ'-:l-x 3 work?
9\ A FH FF F 2/3 F QW A A 8 e wra
IQj g AR B A W FF F 1/7 F @ FA H 3
et @erd § 3R C # 38 F1 & 4/5 F QU F4
35 @ & 8 R v ¥ IR & v ww 3 R Fw
A e A BINCFAGET AL AV &7 &

0 FA A A F A Re e
(a)117/28 days (b) 95/23 days
(c) 256/25 days (d) 129/35 days



Tap A fills a tank in 20 minutes which

A 2 o ‘3 C empties it at 1/34d the rate at which A
60 __ fills it. At 12:00 noon. A and C are
C 60 _I

simultaneously started and when the tank

_&X IS is 50% full. Tap A is turned off. At what
time will the tank be empty?

@mazoﬁﬂt#whm%mﬁcsﬁ

1/3 § &¥ W @rell H{dr ¢ 99 W A 3§ $=ar

i":-ng mtlzzooaaamcwmaym%‘

3R I TF 50% T BT § Y AT A q@ W
L“S“M‘\ fear smar @ 9 97T &% @rell gem?

\zlﬁ- (a) 12:35 pm \Jpr 12:45 pm

(¢)12:30 pm (d) 12:55 pm



(x-5) persons can do a work in x days

'3 (9)x = CuS)xcliha

(x+ S) persons can do 75% of the same

— =X =Yy Wor in (x- ays. Then in how many
1Sx_ (= k, in (x-11) days. Then in h

226 days can (x+10) persons finish the work?

"31"‘29\0-.-.-_0 (x-S)alﬁ?rxa’m‘r#wmm@%m‘h

i 11 (x+5) R 3 FF (x-11) et & s &

: -\ 75% T Tahdl gl T fhaar &t (x+10) =fda
20 |5m—59\g

T FT ThaT §?
% ( 3°M_M°{T15 days AD) @ys

(c) 20 days (d) 24 days



if it takes 42 days for a pond to get
filled with rain water. If the level of water

doubled each day. Then how long would it
take to fil w pond?
afe fel arend #t Ry & g F oA A 42

Ret o § afk ol &1 ¥/ 94w et g @
mﬁ%a’rm%ﬁ 1/16 8T & 3 H fvcta

U;ﬁs days (b) 39 days

(c) 32 days (d) 8 days

12y=3p J‘@
®\-



A and B working together complete a

A‘,‘ B GJ—C work in x days while B and C complete

same work in (x+6) days. If C is 20% more

'Z"" G efficient than B. then how many days
working alone A will complete the whole
7 . & work?

AaﬂTmemaﬂﬁguxﬁa’rﬁﬁnﬁ
C E FE # @ @ § 9@ B IR C wAW F

'6 S F (X+6) &= A U A §1 I C, B AT Forar

_,_,,” A 20% HOF FF FUG ¢ A A IFa e

LS il ('63 (x+6) 11x (x+11)
a

e
R 11x(x +1) 6x(x +6)
l I('*K)_s fix (249 @ &% (x+1D)

6(x+11) 11x(x +6)

(b)




R Rahul can do a piece of work in 24 days
Q'l S. Ajay can do it in 30 days and Pankaj in 40
ﬂ 39 j20 M e lo 8 days Rahul and Pankaj worked for 4 days
( Yo ? & O and handied it over to Ajay. Ajay worked
for same days alone and handled it again
to Rahul and Pankaj, 6 days before the

-&_; o d completion of the work. Find total days
tak@h to complete the work?

M e Reeht F FY 24 Rer QU A T B

o 39 30 &t 7 3 gwer 40 e F T =

204 wHaT § Tger IR Ghar o 4 Rl a5 14

IR 3/ IeT FI WY AW 397 & Fo @ 3

AR FF U @A F 6 G gger g
(a)15 Ml)/)zo IR 9Fs F FH WY AT FE @ A F A
(c) 25 (d) 16 o Rt 1 Fea 7 s



fourteen persons can do a work in 18
days. After S days of work. 6 workers left
the work and joined back on the last day

|H* l Q ;i ttzz ::11:;;1; how many days the work

8 14 =afda et w14 # 18 B & 9 & w&ad
¢l 5 e & F=A & 91g 6 AY G F4 VI3

— *{\ & ¢ IR F & fow Rer avw F1F 7 FQ
¢ F fraa Rat & qu gam?

Q‘ ) 27
_I_ 6 (b) 24

‘?_:,l (d) 21



A can complete a task in 6 more days than
when B taken to complete the same task.
B starts the task and work for 4 days. Then
A alone complete it in 12 days. The time

taken by B alone to complete the same
task will be?

A 5t 18 # B @ 6 30 Rt & U W
#HaT § B 14 % a1 ¢ AR 4 Ret & Qo
FH FaT ¢ AN BT A e 5@ 12 =t & qu
FT Thal ¢ al B @RI Hda aF FH Faa e

A QU g @
(a) 10 (b) 16

(c) 15 ) 12



John gets Rs57 per hour of regular work
and Rs114 per hour of overtime work. He
orks altogether 172 hours and his
income from overtime hours is 15% of his
income from regular hours. Then for how
many hours did he work overtime?

T F AT F97 F vfa 8¢ 57 39 IR
HNGIERH FH F Ufa 9¢ 114 399 Aaad 8 T8
fﬂ'ko Fol AAHT 172 g FH FaT ¢ 3R AawenA

gel ¥ 3aar 3 Aafaa et @ 3adr 3w &

Yo
3 ‘13->\47‘15°/u gl Y, 39 st o tatesy &Fare)
3'—)\26\ @(12 Hours (b) 15 Hours

@ (c) 18 Hours (d) 21 Hours




If the cost of printing a book of 320 leaves
with 21 lines on each page and on an
average 11 words in each line is Rs.19
then find the cost of printing a book with
297 leaves, 28 lines on each page and 10
words i line?

afE 3203 TFaF 1 ohE A AN TAS
gs3 WX 21 UiFadl & WY AR 30T 93@F 9ied
A Jwaa 11 oo 19 39 & § a1 & TFAS
FI BIYA I ARTT AT AT 297 fFadl T AF

yss g 28 gfFadl 3T v+ 9iFd & 10 Usay
3 3

@# AY? (a) Rs.22 (b) Rs.20
LofRs212 (@) Re21
8 4
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Two coal loading machines each working
12 hours per day for 8 days handles 9 tons

of coal with an efficiency of 90% while 3
other coal loading machines at an

/I-U A2 efficiency of 80% set to handle 12 tons of

4

coal in 6 days. Find how many hours per
day each should work?

al Fger dge A 8 AT & 12
d%ﬁmaﬂ?ﬁ%gmaﬂﬂmﬁh%% S CIED
3 3R FIar age AMA 80% F &HaT 6 AT
#A 12 &1 FIS F oA F v @uia & ar
Yd® H fhdd 6 FF FIET TIR0?

(a) 12 hrs/day MG hrs/day
(c) 20 hrs/day (d) 18 hrs/day




Works W! and W2 are done by two persons
A and B. A takes 80% more time to do the
work W; alone than he takes to do it
together with B. how much percent more
time B will take to do the work W2 alone
than he takes to do it together with A?

FE W1 3R W2 ar =afFaal A 3Ig B g@nT
fFar STaT § A &t 80% 3O AT W! F1F &t
¥HS U Fa1 § aen a§ B & iy e
mﬁa;ﬁvam%)ﬁmmwﬁammBm
wzmaﬁrwmﬁ#mﬂﬂﬁaﬁAaﬁm

#mm‘ggﬁ E\'

(a) 100% (b) 120% = -

(.}'} 125% (d) Can’t be determined



(a) 12 hrs
(c) 15 hrs

(b) 18 hrs

\Ad] 22 hrs

In the beginning, ram works at a rate such
that he can finish a piece of work in 24
hrs. but he only works at this rate for 16
hrs. after that he works at a rate such that
he can do the whole work in 18 hrs. if Ram
is to finish this work at a stretch, how
many hours will he taken to finish this
work?

XA, A, TH 30 e ¥ FH &A1 ¢ & J7
24 Y& H USH FTH @cH HT GFHdl ¢ dAfhd 98
SH ¥ W Fdd 16 ¢ FIH HFIdT ¢ 3TF dI¢
9 39 e ¥ FH a1 ¢ F @ W Fd F
18 ¢ # & FHdT ¢ g TUH I 3§ T &I
UH X A QU FIET 8, dl 96 6 S S G

F A Faar 9¢ &7 FAT A9?

(a) 12 hrs (b) 18 hrs
(c) 15 hrs (d) 22 hrs



'q.z y R A, B and C can do a piece of work in 72, 48

ll]? "‘WS and 36 days respectively. For first p/2
.36 !l days, A and B work together and for next
(p+6)/3 days all three worked together.

|2~ Remaining 125/3% of work is completed
)"-'-'-"— m*-l&. by D in 10 days. If C and D worked

— together for p day then, what nr%n.n of

uf . c G work will be remained? Mﬂ
— A,Bﬁ?ﬁﬁ‘l’fﬂ’-‘lﬂ'ﬁ?ZABMﬁg%m
12 :iiiiliilij 9 FT @Hd ¢ 96 p/2 e A 3R B & @
%‘H‘_ FTH Fd ¢ AR 39 (P+6)/3 e dler =
(0 6‘% 15 L—mm FI FId ¢ d A 125/3% &HFH D @RI

D ‘ﬁm% 10 e % Q7 7@ ¢ 3% C 3R D v& @y P

(a) 1/5 6 & & Qv F97 Fd § O F17 F1 Fgar #mr
(c) 1/7 (d) 1/8 &= & =m?

(a) 1/5 (b) 1/6
(c) 1/7 (d) 1/8

sp Hp
2




4 Girls can do a piece of work in 8 days. 3
boys can do the same piece of work in 9

Q- = WS. 7 men do the same piece of work in
2R4=2B=]yM=2,

ays and S women can do the same piece
of work in 4 days. Who is least efficient?

4 w3fFar o F 8 R & qU W wHA ¢

3 3% 3 4 F 9 T & qU A § 7 A
38 FF F 2 R & Far § 5 3RS 36 F
F 2 R & Fr § 5 3RS 3 F1F Y 4 =
A FA § A TR AT AT FAA 82

®

(a) Boys
(c) Women
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A and B working alone can complete a
work in 30 and 15 days respectively. If
50% of the work is completed by C in 3x

days and the remaining work is completed
by A and B working together in x ?iays,

=$d‘/then find the time taken by B and C

together to complete the work?
@ Aaﬂwsmmmymwmmo

IR 15 @& & g & F&a ¥ IR C @R
50% H& 3X =l # qu fFar Smar @ 3k Ay

o F& A 3R B q@rT X Rl & tF W19 1 Fd
§C 90 fFar Smar §, @ B 3R C qErr e
FE F QU FA A o 7191 §A7 7@ FfSe?

(a) 15 days (b) 18 days
(c) 12 days (d) None of these



A can do gth of a work in 8 days he

starts to the work and leaves after 9 days.
The remaining work is completed by B in

S%days. A and B together can compete

60% of the original work in?

A—gmﬁsﬁﬂﬁww%a@mm

YT FAT AR 9 R arg |13 qar & AR AY F
FI B 5%ﬂwﬁ{nm%aaﬂ1360%w
A FH Faa AT QO FEM?

(a) 8 days (b) 2.5 days
J9 4 days (d) 6 days




The ratio of efficiency of A is to C is 5:3
the ratio of number of days taken by B is
to C is 2:3 A taken 6 days less than C,
when A and C complete work individually.
B and C started the work and left 2 days.
The number of days taken by A to finish
the remaining work is?

A 3R C #1 FHETHAT FT IHUd 5:3 § B 3R
C ¢arT 1 v R H ¥&ar &1 aura 2:3
€A CHGE6Ra s7 dar g 59 AR C
fFaId T @ FH H U Fd ¢ B AR C
FHAFA P FAFIN2 RA ag sz & &
dl A # e e o9 a2 gu 17 F1 Q@

A & foe?

(a) 4.5 (b) 5
(c) 6 (d) 9



the second day on wards, one worker was
withdrawn each day the job was finished
when the last worker was withdrawn had
no workers been withdrawn at any stage,

h me group would have finished the job in

N &-a 55% of the time how many workers wear
then in the group?

UH ASIQU & HHg I TF FHA I @ AT gAY
e & vF Aoy A A7 FFer o s §
FH TcA g S9 JTE Ay F1 AFrer o
STearT| g FIE #Ht Asiqy A8 Ao Srar
#t oRTPufa & o wqg w7 ' 55% wHg A
Q@ FT a1l @ g A Faa Asiqy 9?
@so W =T (b) 40

(c) 45 & (g0

A group of workers was put on a ﬁd’ From




Yesterday Rani completed 300 units of

G 5 -:L work at the rate of 15 units per minute.

Today she completed the same units of

‘1' q, 5 work but her speed was 40% faster then

yesterday. What is the approximate

difference in the time she took to

%% “Agg_mplete the work yesterday and the time
she took today?

o Tl & 15 Ffae gfd Bee $Fr g & 300
e 4 U A1 Je IS q@ AT FA
g1 T Afa 3w Ifa wer A Joar 7 40%
dst fl F FE F T FA A 3qH ganT o
T FAHT AR AT IF qanT v v wAT A
oraTsaT e AT 87




(a) 16 minutes (b) 26 minutes

(c) 46 minutes yl’g minutes






